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THOUGHT OF THE DAY

Nothing is
particularly hard if
you break it down into
small jobs.

—Henry Ford

BEST
THOUGHT
OF THE DAY




STUDENT’S CORNER

e 0 ¢ ©O

Gﬁ;

monika kumari 5 hours ago

Evolution
Thank you sir Ja
Very helpful session

oy CH Reply

Miharika Jha 4 hours ago

Homewaork answer: EVALUATION
Thank you for the mocks Sir g &

oy CJH Reply

Tanisha p 4 hours ago

Thank u sir " "
home work — evaluation

oy CJH Reply

Muskan Rai 5 hours ago

AMNSWER = EVMVOLUTION
THANE L SIR

oy CJH Reply

MNishtha Shukla 4 hours ago
Homework Answer
Option C

Thanku bhaiya J. o W

&=

O ¢

N

urmila kumari 5 hours ago

Today's h.w ans.

Opt. - C
Thank you Sir 4.
5 GF Reply

abhay singh 21 minutes ago (edited)

Answer option c evaluation
i B

Twinklr Gupta 5 hours ago

Reply

Ans. Evolution
s &H

Kajal Singhal 4 hours ago

Reply

Home work ans option c

Mandini Sharma 5 hours ago

Reply

Evalution
rh GH

Swurbhi Sinha 4 hours ago

Reply

Evalution

rh &F

Reply



WORD OF THE DAY |

PANDEMONIUM

(NOUN): (&TTHT): bedlam

Synonyms: chaos, mayhem
Antonyms: silence
Example Sentence:

There was complete pandemonium here.
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PHRASE REPLACEMENT




1. Sameekh is a best student in the department of

mechanical engineering at present.

i) the best student

ii) an best student

iii) for a best student

(a) Both (i) and (ii)

(b) Both (ii) and (lii)

(c) Both (i) and (iii)

(d) Only (i)

(e) No correction required

Ans.d




2. Sudhir follow the suggestion of his mother

and nobody’s else.
i) is nobody’s else
ii) and nobody else
ili) and nobody else’s
(a) Only (i)
(b) Only (iii)
(¢) Only (ii)
(d) Both (ii) and (iii)
(e) No correction required

Ans. b




3. The female with curly hair sitting in the car is
the sister of the one of the headman of the
village.

i) headman

ii) one of the headmen

iii) the one across the headman

(a) Only (i)

(b) Both (ii) and (iii)

(c) Both (i) and (ii) Ans. ¢

(d) Both (i) and (iii)

(e) None




4. When the boy regain consciousness he
wanted to eat something.

(1) If the boy regain

(2) When the boy regained

(3) Despite the boy regain

(4) On the boy regaining
(5) No change required

(2) when the boy regained is the right usage.



S. Reghunath proposes to lay claim for the insurance
company as soon as he recovers from the accident.

(1) lay claim to

(2) lay claim on

(3) laying claim towards

(4) lay claim against

(5) No change required

(1) lay claim to is the right usage.
lay claim to (Id.): to state that you have a right to own
something.



6. The new concession announced by the
Government will have only a marginalised
effect on the lives of the people.

(1) marginal effect of

(2) margin of effect on

(3) marginal effect on

(4) marginalising effect in
(5) No change required

(3) marginal effect on is the right usage.



7. The Charitable Hospital works under the auspices
from Welfare Trust of an Industry.

(1) under the auspices by

(2) by the auspices from

(3) through the auspices from

(4) under the auspices of

(5) No change required

(4) under the auspices of is the right usage. under
the auspices of (Id.): with the help,
support/protection of somebody/something



ERROR DETECTION




8. We are trying to (1)/ find out the root cause (2)/ of
this recurring problem (3)/ since the last four
days. (4)/ No error (35)

(4) Last four days denotes a period of time. We
use for with period of time and since with point

of time.




9. I told him bluntly (1)/ that he is a lazy fellow (2)/ and
that he had done (3)/ his work very badly. (4)/ No
error.(5)

(2) We know when the Principal Clause in a sentence
(Indirect) is in Past Tense, the Subordinate
Clause also must be in Past Tense. In the
given sentence I told him (Principal Clause)
is in Past Tense. So, here is must be replaced

with he was.



10. Mumbai is full of tall buildings (1)/ which is at once
its (2)/ strength as well as weakness (3)/ depending
upon how one look at it. (4)/ No error (5)

(4) One (Subject) is in Third Person Singular Number. So,
with one we can use looks, does, etc. In the given
sentence one look should be replaced with one
looks.




11. I am fully aware that (1)/ my boss is one of
those (2)/ who is totally dedicated (3)/ to work
and proper discipline. (4)/ No error (5)

(3) When the subject of the Verb is a Relative Pronoun
care should be taken to see that the Verb agrees In
Number and Person of the Antecedent of the Relative

Pronoun.




12. Even though I love coffee (A.)/ I have chosen
to avoid (B.)/ the beverage because the (C.)/
damage it does to my teeth. (D.)/ No error (E.)

Correct Option: C

The usage of verb ‘because’ is erroneous in the
fragment and needs to be replaced with
‘because of’



WORD ARRANGEMENT

In each of the following sentences, there are four
words (A), (B), (C) and (D) highlighted in bold. The
words may or may not be at correct positions. Select
the option that gives the correct set of words as a
replacement to these words. In case the sentence is
correct, select ‘No improvement required’.




13. Businesses are Which (A) for a word in
preparing (B) the Covid — 19 virus and other
(C) pandemic diseases are a recurring (D)
feature
A. ABCD
B. BACD
C. CABD
D. DABC

E. None of the above
Correct option : b




14. There are brushed (A) concerns about privacy,
though to date these have been tolerate (B)away
with the notion (C) that people are willing to
legitimate (D) a loss of privacy for a better life.

A. ABDC
B. BADC
C. CADB
D. DACB
E. None of the above

Correct option : d



HOME WORK

The social worker wanted to bring about little

changes in the lives of the people of that
village.

(1) to bring back

(2) to bring up

(3) to bring forth

(4) bringing about

(5) No change required




HOME WORK ANSWER

The SOFI report, which is published

annually, presents the most authoritative

of hunger and food insecurity in
the world.

A. Invocation

B. Evolution

C. Evaluation

D. Avocation

E. None of these.







